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1 7H8H MNE 5 » iF & 0 0 0.0
2 7B 8H T w 5D ped & 0 0 0.0
3 7H11H = v DD INEBF IR SB 0 0 0.0
4 7H11H = v DD kR = L 0 0 0.0
5 7H11H = w DD =] H 0 0 0.0
6 7H12H = w DD N BF IR B 0 0 0.0
7 7H18H T w S5 D = & 0 0 0.0
8 78238 T v 5D fR & L 0 0 0.0
9 7H9H B> F & 0 0 0.0
10 7H16H Yy 5> INOF fH 0 0 0.0
11 7817 Yy 5> BEZ-KX 0 0 0.0
12 7H18H YY1 5> e i 0 0 0.0
13 7H23H Yy 5> R = L 0 0 0.0
14 7H24H YY1 5> N BF IR B 0 0 0.0
15 7H24H Y12 5> M &% H 0 0 0.0
16 7H8H > Y, iR 2 L 0 0 0.0
17 7H25H X A4 A = 3 0 0 0.0
18 7H22H EDBEACUL e & 0 0 0.0
19 7H8H N ¥ ~ BE_-KX 0 0 0.0
20 78H12H N ¥ ~ INOF fH 0 0 0.0
21 7H11H =+ A = H= 0 0 0.0
22 78H12H =+ A INEF IR B 0 0 0.0
23 7817 =+ A BE_-KX 0 0 0.0
24 7823H =+ A R = L 0 0 0.0
25 7826H -+ A R = L+ 0 0 0.0
26 78308 % fa1 BE—X 0 0 0.0
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27 7H5H 5 X R F B\BRE-ZKX 0 0 0.0
28 7B3H AN = INEF IR B 0 0 0.0
29 7H16H AN = iF & 0 0 0.0
30 7817 AN = R = L 0 0 0.0
31 7H18H JXL 123 iF & 0 0 0.0
32 7824H AN = N BF IR B 0 0 0.0
33 7H16H SwvFx3ad iF & 0 0 0.0
34 78B4H e 3 o = B 4 0 18.6 18.6
35 781685 =z o Z F P RE 11 26.5 37.5
36 7H8H > A4 5 T fE B& H 0 16.2 16.2
37 7H5H ™ e BE-KX 0 0 0.0
38 7H9H ™ A a 2 1 0 0 0.0
39 78108 > e N BF IR B 0 0 0.0
40 7812H > e N BF IR B 0 0 0.0
41 7816H > e N BF IR B 0 0 0.0
42 7H10H £ O = BE_-KX 0 0 0.0
43 789H K = 3 3 {h il 0 0 0.0
44 7848 a3l = INOF fH 0 24.6 24.6
45 7H5H 3l B = ¥ 0 25.6 25.6
46 7H8H 3 = INOF fH 0 0 0.0
47 7H8H 3 = INOF fH 0 0 0.0
48 7H8H 37 =] JNOF 1 41.1 63.8 104.9
49 7H8H 3% B INOF fH 23.8 49.2 73.0
50 7H8H 3 = = ¥ u 0 0 0.0
51 7H8H 3l B = B 0 34.3 34.3
52 7H8H 'l = = ¥ 2 0 0 0.0
53 78108 3l = = ¥ 2 0 52 52.0
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54 7H10H 3 = = B 4 0 0 0.0
55 7H10H 3 = = B 4 0 0 0.0
56 7H10H 3 = = B 4 61 121.3 182.3
57 7H10H 5% = = ¥ 12 49.2 67 116.2
58 7H11H 5% = = ¥ 12 0 31 31.0
59 7H11H 5% = = ¥ 4 34.4 49.3 83.7
60 7H17H 3 = /N BF 7R B 0 0 0.0
61 7H17H 5% = 2 & 27.4 43.6 71.0
62 7H178 5% =] P2 & 26.9 22.5 49.4
63 7H18H 5 = =& ¥ 4 0 0 0.0
64 7H18H 5% =] = ¥ 12 31.6 29.3 60.9
65 7H18H 5 = =& ¥ 4 0 0 0.0
66 7H18H 5 = =& ¥ 4 0 0 0.0
67 7H19H 5% =] = ¥ 2 0 28.2 28.2
68 7H19H 5% =] & ¥ 4 25.1 35.1 60.2
69 7H26H 3% = INF 39.8 52.3 92.1
70 78268 5% = INFE 0 0 0.0
71 7H8H WH ST — R e Bz H 154.7 363.6 518.3
72 7H8H JI\HZREZ—)L e B H 317.3 859.4 1,176.7




